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BRXs—2 BEMICERTILEESNAERCHEIREEO/) | #E#E |  FRIsEE
[ RO NE | EpEs 02421013 Bm% | T RAM—1 LS - ANEE]
3 SIERMO FinIZBHET ST i SIERMA
ﬁ%&g TREOBHOEFILADKRES TREOHFERILHOKRES TREOBBOEILADKRES TREDHFERILNDOKRES
= = TR AV E TR AV ] = = TR AV = TR AV =] =
&= K 4 ,(Er,né)t 'Fimb(ﬁ)d)ﬁﬁ%ﬁ jj(g’)\lzcnié X 4 -FJFHEE%'E@;K:F rz.nz;k jj(gilzcm%)é X 4 .(Eﬁ J:mt;(z)a)tt.a 73(&3(”1%):5 K 4 J:mb(i)d)tt.a '(Erlné): 73(&3(5?‘5
5 100kN/m#%#8 2% 1.00] 000 ~ 1.1 119.00|3m%Z#BZ 5| - ~ = —| 100kN/M%#2 % 1.00| 12.60 ~ 18.00 119.00|3m%E#E 2z % -~ = = =
LS 1.001.11 ~ 7.80 100.00| #HxLlst [000 ~ 7.80] 247 10.86 Zh s 1.00| 500 ~ 12.60 100.00| #hLlst | 500 ~ 18.00| 2.47 10.86
3 100kN/m#%#8 2% 1.00] 000 ~ 1.32 122.73|3m%#B8%%| 0.00 ~ 0.01| 3.01 13.24] 100kN/mMZ#B %% 1.00| 13.19 ~ 20.00 122.73|3m%E#BZ% - ~ 20.00| 3.01 13.24
LS 1.00]1.32 ~ 801 100.00| #xLlst [ 001 ~ 801| 3.00 13.20 Zh s 1.00] 5.00 ~ 13.19 100.00| #h st | 5.00 ~ 20.00| 3.01 13.24
A 100kN/m#%#8 2% 1.00] 000 ~ 2.00 134.90[3m%#8% 5| 0.00 ~ 0.27| 3.14 13.81] 100kN/mMZ#B% % 1.00| 12.92 ~ 30.00 134.90|3m%#B% 5| 25.00 ~ 30.00| 3.14 13.81
LS 1.00] 200 ~ 868 100.00| #hLlst [0.27 ~ 8.68| 3.00 13.20 Zh s 1.00| 500 ~ 1292 100.00| #h st | 5.00 ~ 2500| 3.00 13.20
5 100kN/m#%#8 2% 1.00| 000 ~ 1.88 132.76|3m%#8% 5| 0.00 ~ 0.05| 3.03 13.31] 100kN/mMZ#B %% 1.00| 12.95 ~ 28.00 132.76|3m%#B% 5| 25.00 ~ 28.00| 3.03 13.31
LS 1.00| 1.88 ~ 856 100.00| #hLlst [ 005 ~ 856| 3.00 13.20 Zh s 1.00|] 500 ~ 1295 100.00| #h st | 500 ~ 2500| 3.00 13.20
6 100kN/m#%#8 2% 1.00| 000 ~ 1.63 128.16|3m%#Bz5| - ~ = = —| 100kN/M%#2% 1.00| 13.55 ~ 28.02 128.16|3m%# x5 -~ = = =
LS 1.00] 1.63 ~ 8.31 100.00] #xLlst [000 ~ 831| 294 12.95 Zh s 1.00| 500 ~ 1355 100.00| #h st | 500 ~ 28.02| 294 12.95
; 100kN/m#%#8 2% 1.00| 000 ~ 1.34 122.93|3m%#Bz3| - ~ = = —| 100kN/M%#2% 1.00| 12.68 ~ 20.00 122.93|3m%E#Bx% -~ = = =
Zh s 1.00]1.34 ~ 802 100.00] #xLlst [000 ~ 802 275 12.11 Zh s 1.00| 500 ~ 12.68 100.00| #h st | 500 ~ 20.00| 2.75 12.11
8 100kN/m#%#8 2% 1.00] 000 ~ 0.29 104.77|3m%E#EZB| - ~ = - —| 100kN/M#Z# 2% 1.00| 12.87 ~ 14.00 104.77|3m%E#BZ% = ot = = =
Zh st 1.00]0.29 ~ 6.97 100.00] #hLlst [000 ~ 697 2.38 10.46 Zh s 1.00|] 5.00 ~ 1287 100.00| #h st | 500 ~ 14.00| 2.38 10.46
9 100kN/m%E#BZ % -1 -~ = -|3mZzBZB| - ~ = = —| 100kN/Z#B 2% = -~ = -|3m%i#BZ % o ~ = - -
Zh s 1.00] 000 ~ 493 72.34] FnLst 1000 ~ 493] 1.80 7.91 Zh s 1.00|] 500 ~ 7.56 72.34] #hList | 500 ~ 7.56| 1.80 7.91
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zzh s ~ zhnLs ~ zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
ZzhLst ~ zhnLs ~ zh st ~ zhs ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh s ~ Zh st ~
100kN/mM%#BZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEEZDB ~
Zh st ~ Zh st ~ Zh s ~ Zh st ~
100kN/mM%#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh s ~ Zh st ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/m%Z#8 % % ~ ImEEZDB ~
Zh st ~ Zh st ~ Zh s ~ Zh st ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/m%Z#8 % % ~ ImEEZDB ~
Zhst ~ Zh st ~ Zh st ~ Zhst ~ |
BEFE



